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Whats the first word in the sequence There E

has a rare property Finally whilethere is only
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Valid starting wordthe other words have alternatives
ERROR could be replaced with RARER and
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Whats the first word in the sequence There E

has a rare property Finally whilethere is only fI
mmmm

Valid starting wordthe other words have alternatives
ERROR could be replaced with RARER andi G
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Reasoning Each word has the special property

of having more than half of its letters be

the same letter e.g Lull has 3 L's and 4

totalTethers The same letter in each word comes

6 letters in the alphabet after the previous word in

the sequence implying the first word must be

majority 2 s The only such word is pizzazz


